STAR

SvEI DI/

B om =
B8 — K K49466
i i SWM1610

MmpticE X SwM1610-02

» BER CEN DIRIE, UFBREHRERE SEET L,
» GRS mO—EICIE. F&H By MNEEOHOBROBOET

“BE" EROBERRICIIBTHRA TS0,

A I~k =1






O TEXIZDONT

HIEEMOBIGERIZDONT

1. BRE ZHESCOBE, TRUEHEZ ZHEE S S0,

SICISICS)
EHEERRE
En

5 N

X EHamHREKEMRRRBE KU, KK
DF—LT—FIERLUTVET,

2. o [— | [ uTFoz skl
BYET,

e VAR E | MAAAERTO DS
RUGE 2 12 & 0 B HE

s T oA BICEEND OB,
TS LRV ERA,

Z OEEORHE G OBSSER (R 3, i
BHHEW V% OETT, EL, HEERNTH-
Th, RS OWD TR & THRSE T
W< BEabHY ET,

FREE & O BHS T FRIRIC 1T ERR DG IR T
TUETH, HGERBRE ChoTH, Wi
D ZHEFED B o IS T L OMlifgic oD
MR SE QRS 3,




IL—L (1)

\l

SWM1610 Suti ey

RER B BB O & W % i %
1 AL 7 1L—ALCP 1
2 | 0714891000 ¥oadk—24 CP:540 1
3 | 0836421000 Xovogk—2A CP ;375 1
4 | EWK869932 SFY¥5 ;4X1/8 4
5 | ONBSI TY—2=w 7 B PT1,/8 2
6 | 1376000004 Kr—/3C P 1
7 | BZ16120 ALh 8 8 M16X120 2
8 | WSAL6 NP HA 347 M16 2
9 | NZ16 Fwvbh 8 2¥a M16 2
10 | 064021100M 7y 2
11| 134946000M =AY R~ KCP 1
12 | BSZ10035 aff ARV 7 M10O0X35 2
13 | WSAL0 AR 3Ty M10O ‘ 2
14 | NSZ10 o Fyh 8 2¥= M10 2
15 | 0667641004 v 2
16 | BZ20080 ALR 8. 8 M20X80 2
17 | WSA20 NRERYFHFx 3AY M20 2
18 | NZ20 Jwv bk 8 232 M20 2
19 | 1376061004 Jyir—y Ra-—-/CP 1
20 | 066805000M EyFEy CP 1
21 | WRA30 EZ¥HTR M30 2
22 | 0007390004 JLUFey: 9 1
23 | 1376551004 AHLRCP ;L 1
24 | 1376581004 AHLRFCP ;R 1
25 | 077934200M % 2




SWM1610 Syt LTIy JL—A(1)
RINES| B & & & A I I (B 1 %
26 | 000738000M JrFEy ;6 2
27 | CZ050005 Vo Fae—y VI 5X27, 5PX5 1
28 | $5C0620 v 6—1,/4 2
20 | 1376530004 77 ANLCP 1
30 | BZ16035 ANVE 8 8 M16X35 4
31 | WSA16 ANFPHF 34y M1 6 4
32 | NZ16 Fwvh 8 232 M16 4
33 | 1094610000 ZAL¥AS ;5. 00—9—8PR 2
34 | 0579400000 A% 5. 00—9—8PR 2
35 | 1070520000 Fa—7 15, 00—9 2
36 | 109446ASY AA-—=N ;3. 50DX9DT 2
37 | BZ12025 Ak 8.8 M12X25 12
38 | NZ12 Fvh 8 2¥a MI12 12
39 | WSAL2 NEYFHR 3Ady M1 2 12
40 | 0004075004 NT L AB2X80 2
41 | J30208 FeeRa—=F_7 Y7 30208 2
42 | J30206 F—a—F_XF Y7 30206 2
43 | 000501000M VNI wix 3 40X80 2
44 | WRA24 IR M24 2
45 | 000712000M FyvANFy b, M24X1, 6 2
46 | PCO40032 YKL 4X32 2
47 | 000415000M Xrw7 62 2
48 | 000420000M AVE ;M1I2X1., 5X50 12
49 | NZ12150 Fvh 8 2¥=2 M12X1. 50 12
50 | WSA12 NEPFHA 340 M1 2 24
51 | ONBS1 JY—A=w B PT1,8 2
52 DFH =T L= | 1
53 | 1385460000 Ge9by hIw—27 250 1




SWM1610

Syt g e

Il—Ls(2)

1388f-gj

RUER A E 5 & &AW B T %
1 1376100003 TG hCP T 1
2 | BZ12100 ALk 8. 8 M12X100 2
3 | WSAlL2 ANFRPFHR 327 M1 2 2
4 | NZ12 Fvbh 8 2¥= M12 2
5 | 042783600M Uiy ;12 2
6 | 1379121003 H=RAZRFCP 1
7| 026970100M Ty ;14 2
8 | WSA14 NERPHR 327 M1 4 2
9 | BZ14030 ALk 8.8 M14X30 2
10 | 1379030004 2T BN~ C P 1
11 | BSZ08020 aFERLE T M8X20 4
12 | WSAO8 NEPHR 3T M8 4
13 | WRAOS eIV r M8 4
14 | NSZ08 afrryh 8 22 M8 2
15 | 137650000 T T 1
16 | BSZ08025 aFERLE 7T M8X25 2
17 | WSAO8 NEPHx 347 M8 2
18 | NSZ08 aBfxryh 8 2= M8 2
19 | 1378380003 F Ly IR N~ C P 1
20 | 0006900000 =Xy M8X14 4
21 | WCR1HO8 PINRFYPHTE 1 vaPay MS 4
22 | 1379080004 H— RAF—C P 1
23 | CAP034032 ¥v¥v” 34, 0X3. 2 1
24 | 069868000M FIAE 12 1
25 | 1181490000 =FY M8 1




SWM1610

Swbf e

\l

IL—LI(2)

S

RIEER| B G B B o s A W (B i Z
26 | NBHOS8 Jrwaly b 3HF M8 3
27 11379110004 | %4 1
28 | BSZ08040 aHZHRAR 7T M8X40 2
29 | NNFOS TS50 A ar by M8 2
30 | 1399860004 | H—KCP 1
31 | 1399890004 F¥ LRIV 1
32 | 055032000 | A7 RENLE 8. 8 M8X15 3
33 | 055474000M | W7 xF/L K 8. 8 M8X20 4
34 | NSZ08 alFryh 8 2v= M8 7
36 | WSAO8 NPRPEH xR 327 M8 10
36 | WRAOS eI xR M8 6
37 | 0006880000 | =¥V ; 20 6
38 | 0009360000 | SKHTF N Y—501008Q8S 2
39 | 0433691000 | EyXF L F A S|k 1
40 | 1385460000 SV N7 250 2
41 | 1385470000 G YL =2 500 2
42 | 1061640000 FGoYL Ay 1 1
43 | 1064640000 FGYL i rA 2y B0 1
44 | 1064650000 | T Aoy 51 1
45 | 1065410000 Gy A ay 127 1
46 | 1065900000 FYv s rA4 2y 176 1
47 | 1386420000 T YL Fag A 1 1
48 | KMSO11 ThavxywS 11 2
49 | 1399880004 VA AN 1
50 | 059483000 | W7 xHA R 8. 8 M8X25 3




SWM1610

F—TIL(1)

13885-2
065-0047-700%

23

ey

RIPES B %/ & L I B i el
1 FT I CP ; F 1
2 | BZ16050 ALk 8.8 M16X50 4
3 | BZ16040 AR 8. 8 M16X40 2
4 | WSA16 NPT % 327 M16 6
5 | 1427340003 F—7ICP : RE 1
6 | 137617000M F>CP ;25%X113 1
7| 137922000 | B —TFL—F ;1 1
8 | NSZ10 afzZfyhk 8 2¥=2 M1O 1
9 | WSA10 RpEPFEHR 347 M10 1
10 | 044098500M Twi% ;10 1
11| 137620000 EYCP;F265X115 1
12 | NNF10 TV ArFy h M1 O 2
13 | WRALO LA M10 2
14 | ONB6 V=A== B M6 2
15 | 1374390004 1—SCP; F 1
16 | 1376490004 750 2
17 | JCS207LLU oy h8URTYLZ CS207LLU 2
18 | DCO35 CHH#RNAD 27 35 2
19 | BZ14040 ALl 8.8 M14X40 4
20 | WSAl4 REPHR 327 M1 4 4
21 | 14246850004 m—5CP; RE 1
22 | 1376490004 750 2
23 | JCS207LLU ozmy baURFY LS CS207LLU 2
24 | DCO35 CH&MAD 27 35 2
25 | BZ14040 AVE 8.8 M14X40 4




SWM1610 Syt ey F—TIL(1)
T T [ i =

A&

26 | WSA14 NEWHx 34y M1 4 4
27 | 1374460004 1—5CP; 1 1
28 | JUCFL207D1 Ry =y b UCFL207DI1 2
29 | ONBS TY—RAz=y 7 B M6 2
30 | BZ14045 ALk 8.8 M14X45 4
31 | Nz14 Fvh 8 2¥2 M1l4 4
32 | WSAl4 NREYPHEx 34y M1 4 4
33 | 1374500004 n—5CP; 2 2
34 | JUCFL205D1 X7y ya=y b UCFL205D1 4
35 | ONB6 TY—2=w) B M6 4
36 | BZ14050 ALk 8.8 M14X50 8
37 | NZ14 Fvh 8 2Va M14 8
38 | WSAl4 NRPHE 327 M1 4 8
39 | 1424730000 ~JLRh; 225X3300 4
40 | 1424690004 HAKCP; F 1
41 | RBT10020 REZB 10. 9 M10X20 5
42 | WSAL0 NRPHR 32y M10O 5
43 | 137622000M RPaa—ni ¥y 7 hCP 2
44 | BZ12040 ALk 8. 8 M12xX40 4
45 | NZ12 Fvh 8 2¥a M12 4
46 | WSA12 NP H 2 3d7 M1 2 4
47 | 1245120000 RPaa—nACP 2
48 | 125519000M Tviw ;30 BX4. 5 2
49 | BZ12020 Ak 8.8 M12X20 2
50 | WSA12 NREYH R 34y M1 2 2
51 | 085137000M Twiv; 13%X3. 2 2
52 | 119493000M ELCPF25X70 1
53 | BSZ10025 ARV 7T M10OX25 1
54 | WSAL0 SRRPFHEX 34y M10 1
55 | 060807100M Ty 1
56 | PSO80040 AFYL T 8X40 1
57 | 1339070000 STARY—Z7 T~k : 40 (RN YF) 1
58 | 1339780000 STAR—Z5~YL; 40 1
59 | 0003300000 A AN E S AV N 2
60 | 0009350000 BT~ ; R—701008SQS 2
61 | 1064980000 T Ly 84 1
62 | 1386430000 SV Fy kA 2 1
63 | 1065900000 G YL fay 176 1
64 | 142472000M Flo— k 1
65 | BSZ10035 o AR T M10OX35 4
66 | NSZ10 afZryh 8 2¥= M10O 4
67 | WSAL0 NEYPHER 327 M10 4
68 | 142739000M HARCP; L 1
69 | 142742000M HAFCP,; R 1
70 | 140948000M URNVE; 65C 2
71 | NZ12 Fvh 8 2¥= M12 8




SWM1610

Sutf e

&

\l

e,

g

F—TJL(2)

P

g 49

13886-1

AR 58 & & B N - {E%k i %

1| 137634000M A7y h; 50X38T 1

2 | DCO40 CHERAD L7 40 1

3| 1242720003 2TV 250 1

4 | KFBO8070270 | ~A a2y d— JHw) 8XTX27 1

5 | BZ12055 ALk 8 8 M12X55 2

6 | NZ12 Jvh 8 2¥= MI12 2

7 | WSAL2 NRYFHR 32 M12 2

8 | 137644000M | A—H 1

9 | BJ08025 YIF¥vT7B 10. 9 M8X25 1

10 | 137646000 | #5—; 25. 5X10. 5 1

11 | 132816000 (A7 mA v h; 50X127T 1 (50 cmlli7 4 VA

12 | 1376280003 AFaly by 50OX13T 1 wocmm”“ﬁ'
R

13| 1376300004 | A7uz v bk 50X15T | (Temm7gbAR:
HEHR)

14 | 137645000M 7T 1

15 | 056984000M 7Yy 1

16 | 137638000M | Fr g v P—ACP ;1 1

17 | 081267000 | Fr i gru—5 CP 1

18 | DCOL7 CHERNAD P 17 1

19 | BZ14040 AR 8.8 M14X40 2

20 | NZ14 Fvh 8 2¥= M1l4 2

21 | WSA14 NRYPHR 32y M1 4 2

22 | WRA14 v Fir M1 4 2

23 | 1376350004 RACP 1




SWM1610

F—T I (2)

RER| 5 A E B N - {E%k i =
24 | 1376310004 | ¥ 7 hCP 1
26 | 137648000 | HF—;55. 9X14 1
26 | J60OTLLY R—_FYZ 6007LLU 2
27 | DHCO62 CHEZRNAT 7F 62 1
28 | BZ12040 ALk 8.8 M12X40 3
29 | WSA12 NEPHE 3A7 M1 2 3
30 | 137647000 | HF—;: 35. 5X12 1

31 | 137627000 | At v b 50X257T 1 (50 cmifi7 4 VA

32 | 1376290003 | AFHE& v b 50X23T 1 MMmWM%ﬁ

TR

33 | 0570720004 | AFm v R RS5O0X21T 1 mcmmﬂwﬁ%'

FEERR)
34 | 076487000 | 7'L— k 1
35 | 056984000 | 7 U w7 1
36 | LA50063B —5F - 50X63L A73VEF1 1
37 | LA50077 m—5F -1 50X77L 1
38 | 137641000 | 7wy P—ALCP ; 2 1
39 | 081267000 | Fr i mru—5 CP 1
40 | DCO17 CHENAD Y7 17 1
41 | BZ12040 AR 8. 8 M12X40 1
42 | NZ12 Jwh 8 2vm M1 2 1
43 | WSA12 NEFH R 347 M1 2 1
44 | WRA12 BT R M1 2 1
45 | NZ14 Fvh 8 2%z M1l4 1
46 | WSA14 NAPHR 347 M14 1

— 8 —




SWM1610

».

ST

F—T I (2)

13886-1

BE-OUAT-T004"

§.-55

RUES] & & & O A W R 1H =
47 | 072968100M Tyvy ;14 1
48 | 1393550003 HR—CP ;1 1
49 | 0006900000 =FUJ  M8X14 2
50 | WCR1HOS I ANRPH R L vaVary MS 2
51 | 1378150003 H—CP ; 2 1
52 | BSPZ08016 aFESWIHFANLE 7 M8X16 3
53 | 044097200M Tovv; 8 3
54 | 137906100 H 73 1
55 | RBT08016 AREB 10. 9 M8X16 4
56 | WSAO8 SNERPEHFR 3T MS 4
57 | 044097200M Tviy ;8 4
58 | 0940930000 ARy Sw—T 1
59 | 1339780000 STAR=—Z7 55Ul ; 40 1




SWM1610

Syt g

HATT— L

RIER B8 B B A W B 1 =z
1 ] 0931130000 YT RXTY T 1
2 | BX10035 AVE 10. 9 M10X35 12
3 | WSA10 NpPH R 32 M10O 12
4 | 1373610004 274 GFS100 1|21 4F
5 | BH12040 FrvZB 10. 9 M12X40 2
6 | WSA12 NEPHx 327 M12 2
7 | 1376260002 =4y ;13 1
8 | 134619000M Twivy; 25, 5X1. 0 2
9 | 0907800000 Ty 8, 5X3. 2 1
10 | BSZ08020 aBERLE T M8X20 1
11 | WSA08 NRPFHR 347 M8 1
12 HA T2 T = C P 1
13 | BX10030 ALk 10. 9 M10X30 12
14 | WSALO NP Hx 32y M10O 12
15 | 1379780003 75y RCP 1
16 | CAP0B0538 ¥¥v” 60. 5X3. 8 1
17 | BZ16040 Ak 8.8 MI16X40 3
18 | WSA16 AP Hx 34y M16 3
19 | NZ16 Jvh 8 2¥2 MI16 2
20 | 1385460000 GYL; "7 250 2
21 | KFCO8070320 | ~A 2% — Ugow/l 8XT7X32 1




SWM1610

AL yFT—Ls

i

o122
© )23

RHER o E B B A B B2 fii
1 1379500004 755y hCP ; AL yF 1
2 | ONB6 FY—=RAz=v 7N B M6 1
3 | BZ12070 Ak 8., 8 M12X70 3
4 | WSA12 NRPHR 3 M1 2 3
5 | NZ12 Fvh 8 2¥= M12 3
6 | 137928000M HRAVECP ;7 4 1
7 | BZ12100 ALk 8. 8 M12X100 1
8 | WRA12 eI AR M1 2 1
9 | NNF12 TS5 A urty b M1 2 1
10| 083273000M N— Hrn 1
11 | 078897100M AT 1
12 | WRAOS eI Rr M8 1
13 | NSPOS aHEASY Ty R 4 M8 1
14 | 1285370000 =Xy ;M8 1
15 | 137933100M RAZCP 1
16 | 000462200M vy CP:10 1
17 | 1379321000 T—5; $34. 5 1
18 | BSZ08045 aFERAE T M8X45 1
19 | NNFO8 75ty b M8 1
20 | 137936000M DA 1
21 | DC025 CHANAT V7 25 1
22 | 060807100M Ty iy 3
23 | 1323741000 -3 $25. 5 1
24 | 0587111000 ATV T Ty Ua s H 1
25 | 119848000M F=LCP 7405750 (A) 1




SWM1610

S ge

ALy F oLy

1 5388?4

25 ~

{

REES B & F F N I S i %
26 | 080414100M i 8 1
27 | NNFOS TS5V FAary N M8 1
28 | 0333782000 7Y 1
29 | NSPO8 SAFHZATY TSy s 4 M8 2
30 | 069868000M FLAE ;12 1
31 | 1203530000 S T 4 I 1
32 | ONAB TN =Rz A M6 1




SWM1610 S TT ALY Fa—3
N—
&2 % Cllio %
| -1
5 | ~—5
1
b
/
| -
13859 | -
7700 T
12:@% =
BERS
RHES| & & & 5 - [EE:S i &

1 1379380004 APLoFITL—LCP ; 75 1
2 | 137960000M HF—; 26, 2X24,. 5 1
3 | 117375000M BZ7—326X20 1
4 | PS050036 AFY T 5X36 1
5 | 1379460000 AR yFa—FCP 790 2
6 | JPEL203G NRAT75Y vy PFL203 8
7 | JCS208LLU gzmy hagR7TY 7 CS203LLU 4
8 | WRAOS EIYPHR M6 8
9 | BZ06020 Ak 8.8 M6BX20 8
10 | Ws06 NERPHx 227 M6 8
11 | NZ06 Fv bk 8 2¥a M6 8
12 | WRA12 eI M12 2
13 | WSA12 NEFHR 347 M1 2 4
14 | NZ12 Fyh 8 2¥=x M12 4
15 | 117392000M HF— 1 17, BX4 2
16 | WRA12 EIYHTR M1 2 2
17 | 1379580002 ¥¥ ;M3X28T 1
18 | 1379590002 ¥Y :M3X18T 1
19 | KFDO5050150 | ~Af 2% — Yazayes 5X5X15 2
20 | 187957000M Fl— |k 1
21 | WSA10 NP 347 M1O 2
22 | BSZ10020 aBFERLE 7T M10OX20 2
23 | 120339000 AFY S H3, BX20X160 1
24 | BXI08035 AVE 10. 9 ¥ M8X35 1
25 | 044097200M 7y ;8 2




SWM1610 St e AL yFO—5
14
?;13
@16
% & 17
Tl 3
8 %@!’ BL 1589
! O 6 &8
| i i 2
— 6 -
20
<7
&—22
5| . _
Y y
13889
GLLER| R E o ofm & B %% i %
26 | NSZ08 alffZFyh 8 2¥= M8
27 | WSAO8 NP 347 M8

28 | 1379610004 HN—=CP ; AbL T

29 | 080414100M Yyviy ;8

30 | 0440972000 Uiy ;8

31 | NNFO8 TS arFy b M8

Lonell AR BAGR IR ol S BN

32 | 1385470000 T hTw—27500




SWM1610

Sutf e

T4 IV LRILE

RiEE o E B I I {E# {5 %
1 1375431003 75 RCP 1
2 | BZ14080 Ak 8.8 M14X80 3
3 | 087225100M Twid 114 3
4 | 1375660003 Ty SIRNE—CP ; UP 1
5 1375770003 T FEAL~CP ; Lo 1
6 | 1375840003 2y RCP 1
7 | ONAG FTU—A=w 7 A M6 4
8 | 137598000M EYCP;F25X75 2
9 | 119437000M EYCP;F25X116 2
10 | WRA24 LA R M24 4
11 | 083995000M Twi ¥y ;17X4. 5 4
12 | NN1& Aty s M16 4
13 | 137585000M INAT 1
14 | 137586000M H T 1
15 | CAP027228 XFrywv/S 27. 2X2. 8 1
16 | PS050040 A YT 5BX40 1
17 | 137595000M F¥ L RNACP 1
18 | 040588101M AT T 3
19 | NNF10 TGV A vty b M10O 3
20 | 137588000M PAVE/A 1
21 | 044097200M Uiy 8 2
22 | WSAO8 NREWHx 347 MS8 2
23 | BSZ08035 o 2RV E 7T M8X35 2
24 | 137587000M FA 1
25 | WRAOS LIYPEH R M8 2




SWM1610

4L LiRILS

RHEE B E B & A B {5 il %
26 | WSAOS NRPHR 34y M8 2
27 | BSZ08016 aff ARV 7T M8X16 2
28 | 119442000M FYCP;F16X35 1
29 | WSA10 ANEPHEX 3 M10 1
30 | BSZ10020 aBFARALE 7 M10X20 1
31 | WRA20 AR M2 0 1
32 | PC040032 TUEY 4X32 1
33 | BX114060 AR 10, 9 Fr M14X60 1
34 | Nz14 Fyhk 8 2¥a M14 1
35 | 0433691000 ByFLF oS L—h 1
36 | WSA14 NEPFHTR 34y M1 4 3




SWM1610

vy

R

RER A F = I N I {4k fii =
1| 042322200M Tyix ;16 2
2 | 042783600M Tyi¥ ;12 1
3 | WSAL2 NRPFH X 32T M1 2 1
4 | NZ12 Fyh 8 2v%= MI12 1
5 | 065482200M Ty 12 2
6 | WCRIL12 YIARXPTFR 1= A M12 -
7 | 042783600M Tyd¥ ;12 1
8 | NNF12 TH5 VA b M1 2 1
9 1379640004 TS5y bCP 1
10 | KBF-2525B BBy FIAB 750V % B 25X 25 2
11 | 042322200M Tyix s 16 1
12 | WSA16 NP2 34y M16 1
13 | NZ16 Joh 8 2¥= M16 1
14 | 137976000M v 25X95 1
15 | 060807100M Ty 2
16 | PS050040 ATV T BX40 2
17 | 1379691004 75y FCP av 1184
18 | 1384140000 AN L | 1
19 | 137977000M By ;25X120 1
20 | KBB-25154 =Ry RIA_FTY L7 A 25X28X15 2
21 | 060807100M Ty 2
22 | PS050040 AFV T 5X40 2
23 | BZ06045 AVh 8. 8 M6X45 1
24 | NNFO6 Ty b M6 1
25 | 137975000M T T 1




SWM1610

Syt bde

= B2y

1389‘}—1

RES B & & & B 4 W {E# i =
26 | BJ10035 5%y B 10. 9 M10X35 2
27 | WRALO LI R M10 2
28 | 044098500M Ty 10 2
29 | WSAL0 NEYPH A 32 M10 2
30 | NSZ10 afEFy s 8 2%=2 M10O 2
31 | BSZ08035 aFERNME T M8X35 1
32 | WSAO8 NRYPHR 327 M8 1
33 | NSZ08 alizrvh 8 2va M8 1
34 | 0774120000 | X 7Y H 1




SWM1610

13892-1
065-0047-1010

RINER| I 4 & & I %k fid =z
1 | 1385854000 oy k=R 7 ACP 1
2 | 1385860000 o= Ry 7Ry 1
3 | 1385870000 el S L 1
4 | 1398440000 AT T F A0 1
5 | 1385880000 TF g goa— R 1
6 | 1345450000 a—=RK; 5000 1 | FU30 4
7 | 1105960000 | BEKRUTHEAAL v F 1
8 | 1105930000 | i — R ; BoP— 1
9 | 137917000M =TTy FCP ;1 1
10 | 137926000M T 1
11 | CP0O3016 +F_Raxy M3X16 2
12 | WRAO3 AR M3 2
13 | Wso03 ARYPEHR 227 M3 2
14 | CP0O3025 +FN_m Ry M3 X25 2
15 | WRAO3 eI M3 2
16 | Ws03 NP HEx 247 M3 2
17 | NAO3 Fyh 4 232 M3 2
18 | BSZ08035 affERLEs 7 M8X35 2
19 | WSAO8 NP 347 M8 2
20 | NSZ08 aBsFyh 8§ 2¥a M8 2
21 | 044097200M Ty 8 2
22 | 1386820000 XY AL T 1
23 | 137920000 Y- T5y NCP ;2 1
24 | 138003000M Ty 1
25 | 1385900000 T TS 1




SWM1610 STy Tt
RHEE B o & L B - ) % i il
26 | BSZ08020 afF RN 7T M8X20 2
27 | WSAO8 NEYPH R 3T MS 2
28 | 044097200M Ty 8 2
29 | BJ10040 BS54y v FB 10, 9 M10X40 1
30 | WSAI0 NEYPHT xR 347 M10 1
31 | NSZ10 affZFwh 8 2¥= MI1O0 1
32 | WRAL0 TR M10 -
33 | SHL-W2155 | U w hAAL »F 1
34 | 137925000M o= L—hK; 2 1
35 | CP04030 +F_aRrY M4X30 2
36 | WRAO4 IR M4 2
37 | NPO4 AFY T Fy b M4 2
38 | BZ06012 ALk 8.8 M6X12 2
39 | WS06 NREYFHR 247 M6 2
40 | WRAOG L IYPHEX M6 2
41 | 1122090000 H o Ry 1
42 | 137923000M Y75y NCP ;3 1
43 | 1385890000 xrrFgya—R 1
44 | 119540000 LR—C P 1
45 | 119544000M 2y FCP; 60 1
46 | 1119720004 At 1
47 | 0774093000 Ty 2
48 | CP04016 +FRa Ry M4X16 2
49 | WRAO4 v IR M4 2
50 | NPO4 ATV Ty b M4 2
51 | CP04012 +hRaxy M4X12 1
52 | NAO4 Fvh 4 23 a2 M4 1
53 | WRAL6 eI HR M1 6 3
54 | DE012 EHHMATY 12 1
55 | WRAOS B R M8 1
56 | PCO32016 UKy 3, 2X16 1
57 | NSZ08 afxryh 8 2= M8 1
58 | 079424000M Tg—J xR, 8X32 1
59 | 079425000M By 8X32 1
60 | BSZ10035 affERNLE 7T M10OX35 2
61 | WSAL0 NEPHR 327 M10O 2
62 | NSZ10 aBZrvh 8 2= M10O 2
63 | BSPZ08016 S SWYHFRALE 7 M8X16 1
64 | ILT150 AvvanyZHA 3. BX152 -
65 | ILT380 AvvanyIHA 7. 5X382 -
66 | 1385910000 S YL Fa A 1
67 | 1301790000 VA A= Ay AVE o 1 | AR CR2032(3V)
68 | 1105960010 UL Y—; GLS—S 1 1
69 | 0937330000 Frdaw iy k 1
70 | 1391930000 S0 A YR 1
71 | 1385813000 SVay; Vo 1
72 | 088721000 ANA G NF =T 1




SWM1610

Syti s H T

a7y

L <
E N ot o
3231B %\@

2o\ 30

N

\\\
, RN
@
\\ ®
®
Dy gls
“

RHES B B & I % 1H %
1 | CLF40M BT AA PT1,/2 2
2 | 0007781000 HF5F v 1/2 2
3 | 2083-08-06 =N PT1/2XPT3,/8 1
4 | 106900000M T PRF1/2XPT3,/8 2
5 | 1369190000 TA4NE 31,/ 2—60u 1
6 | KHOBO2000AP | =7 Vik—A 3,/8X2000 1—4 1
7 | KHO802000AP | =27 Yk—A 1,/2X2000 1—4 1
8 | 1033-06-08 A—-AxzR PF3/8XPT1,/2 1
9 | 1033-08 F—AZ AR PF1,/2XPT1,/2 1
10 | 116832000M Few 207 1,/2 1
11| 2083-08 =y v PT1,/2 1
12 | 117267000 T PEF1/2XPT1,/2 2
13 | 1373600000 FLooNR 4 1
14 | BHO5080 Fr¥v 7B 10. 9 M5X80 2
15 | NAO5 Fvh 4 23z M5 2
16 | WS05 NEFHR 247 M5B 2
17 | BZ06020 ALh 8.8 M6X20 2
18 | WS06 NPT 227 M6 2
19 | 105166000M Ty PEF3,/8XPT3,/8 Haky Mi| 2
20 | 102551000M Ty PRF3S8XPT L, 4 6
21 | KHOBOOB30DP | =7 Wih—2Z 3,/8 X630 S901—4 1
22 | 1193570003 TIATVT 42 0VT ;50 1
23 | BZ06050 AL 8. 8 M6X50 2
24 | NNF0§ TGV Ay b M6 2
25 | 106900000M Ty PF1/2XPT3,/8 3




SWM1610 v g ary
RMER B & B oM A B &% {6 %
26 | 1033-06 A—Ax R PF3,/8XPT3,/8 2
27 | KHO602600FP | =27 h—A 3,/8X2600 S451—4 1
28 | 2083~06 =w7FV PT3,/8 1
29 | 2091-06 F4— PT3,/8 1
30 | KHOB0O500DP | =7 Wiak—2 3,/8X500 S901—4 1
31 | 1033-06-08 A—RAr R PF3/8XPT1,/2 1
32 | 2091-08 F4— PT1,/2 1
33 | 2081-08-06 T PT1,/2XPT3,/8 1
34 | 106790000M =v NV, PT3,/8XPF3,/8 2
35 | 1003440000 AT by 17 4
36 | 124511000M Frv I 0T 3,/8 1
37 | 2088-06 ARF AR PT3,/8 1
38 | 106900000M T PF1/2XPT3,/8 4
39 | 1035-06 A—2xR45 PF3,/8XPT3,/8 1
40 | KHOG01300DP | =7 Wik—2A 3,/8X1300 S901—4 1
41 | KHOB03300DP | =7 WAhR—2 3,/8X3300 S901—4 1
42 | 1013-06-08 A—A=mw I PF3,/8XPT1,/2 1
43 | 1033-04~06 A—2x )R PF1,/4XPT3,/8 1
44 | KHO402700EP | =7 Wik—A 1,/4X2700 S902—4 1
45 | KHO403800FP | =7 Wik—2Z 1,/4X3800 S451—4 1
46 | KHO403800DP | =7 Wih—2 1,/4X3800 S901—4 1
47 | 2088-04 AA FA xR PF1,/4 1
48 | 112531000M A= B2 T 1,4 1
49 | 2086-04 xR PT1,/4 1
50 | 1373620006 VYLUE  CWPB0OX115%X345 1
51 | 1035-04 HR—AxAR45 PF1,/4XPT1,/4 2
52 | KHO405100FP | w7 Wdk—2Z2 1,/4X5100 S451—4 1
53 | KHO405100DP | =7 Wad—2Z 1,/4X5100 S901—4 1
54 | 1033-04 A=A AR PF1,/4XPT1,/4 2
55 | 1193510006 U CWP30X90X230 1
56 | 112156000 RYRNR 1,4 1
57 | 2083-04 =w I PT1,/4 1
58 | KHO401900FP | =27 YA —R 1,/4X1900 S451—4 1
59 | KHO401900DP | =27 WaA—A 1,/4X1900 S901—4 1
60 | 1033-04 F—2Rx R PF1,/4XPT1,/4 2
61 | 1173400106 YYLH CWP30OX5B50X275 1
62 | 098624000M Fp I 8
63 | 098530000M I o K 8
64 | 138004000M T LRIV 2
65 | BSZ08040 afERLE 7 M8X40 6
66 | BSPZ08020 aBESWYFFRLE 7 M8X20 12
67 | NNFOS 7oV AarFy B M8 6
68 | 044097200M Uyiy ;8 18
69 | 0749681000 ARG Fa—7 1 500 -
70 | ILT380 Avaay &AL T, 5X382 —~
71 | ILT200 Aoyl A4 4, TX202 -










=
i

S—-071113B

Z 1t
TREZEMR
h8 J11 ' 3¢ PR
EEEXMm
WILE KM
iR E T
T & E R
il & & PR
IR 30
B EERT
R ]
BRAE R

# 98 R R

066-8555

(066-8555

070-8004

098-4100

080-2462

086-1152

028-3172

083-0013

323-0158

480-0102

700-0973

861-8039

885-1202

F W L EEH LI OO 1 F H 2
TELO123-26-1123
FAXO123-26-2412

T H EE®H L OB 1 H#H 2
TELO123-22-5131
FAXO123-26-2035

BN M % 4 4 9 THS3%H 35 %
TELO166-61-6131
FAXO166-62-8985
KIEHMEEN S LYY 1191FH44
TELO162-82-1932
FAX0162-82-1686

W H 224841 TH1I2%M4
TELO155-37-3080
FAXQ1556-37-5187
AP EET I 2 TH16 & 2
TELO153-72-2624
FAXD153-73-2B40
HFEEATAESIIL SR B 11 HE120%3
TELO198-46-1311
FAX(D198-45-5989
EREMATERBEB X hE M 170~1
TELO22-388-8673
FAXORE-388-B7385

e A B B 25 12 -1
TELO285-49-1500
FAXOR285-49-1660
TP RN K E e R 191
TELOBR7-93-6888
FAXDOBEB7-83-6416
MLEBRILE TPH 704-103
TELO8B-243-1147

FAXOB6-243- 1268
RRARBATEEEITH2EH 15
TELOS96-381-7222
FAXO86-384-3525

B EBE TSR E®EE1003-2

TELOS86-53-2222
FAX09B6-53-2233

Y. 19. 11,

48 ®



